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1. Give the matrices A=[3 4} and B={7 8:|' Find the multiplication of 4

and B (10%), and find the inverse of the matrix 4 (10%).

2. Give four vectors A, A,, A, A, in R:
A =3,0,-3), A,=(-112), 4,=(4,2,-2), and A, =(2,1,1).
(a) Show that A, A4,, A4, are linearly dependent in RrR? (10%).
(b) Select three vectors from among A, A4,,A,,4, so that the three selected vectors

. ; 3 5 .
form a basis for [R® (10%). The correct explanation for the answer must be

included.

3. Find 11111(1)_{x2 sin(l/ x)} (10%) and 111})1{:«:111(,\:)} (10%).
. 1 d 2 1124
4. Find .[\, dx (10%) and d—]n{(x + DY (10%).
5

Draw the region bounded by the graphs of y = x* and y=x—2 (10%), and

A

find the area of that region (10%).




